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Q Response Review

Student ID/Username:

s123353

College:

Grade12

Exam:

2022 - 2021 SJWI whydl duasdl &lgi...

4]

Full Name: Group/CRN:

Wl dilue e ol 2a> Hamad ... $PC-408AD-G12-ADV-2 (823717)
Course Name:
G12ADV.CHM - Chemistry G12ADV

Activity Type: Time Spent:

Final 81 mins, 35 secs

Delivery Method:

Digital

Area/Branch Name:

HAMZA BIN ABDUL MUTTALIB 408...

Total Marks:

110/125



Q.1: ol Bsg o) duilidl guall JA5 o JuSIVI Sloldy dpouns - Ju) VI Sladldg JaSUVI Sladly o JSU dlidl guall gu dulially diyléall (IUPAC) Mark(s): 5/5

the (IUPAC) system?

T
(|:H2CHCH2CHCH2CH3
Cl

Learning Outcomes Covered

o CHM.5.6.01.003
o CHM.5.6.01.009
o CHM.5.6.01.013

a.
1 — chloro — 2 — Fluoro — 4 — bromo hexane Oy gag— 4 — gyl — 2 — 450K
= = e e e e e e e e e e e meeeee e
b.
E 4 — bromo — 1 — chloro — 2 — Fluoro hexane OhaSy gyl — 2 — gyl -1 — gegn—4
i
c.
6 — chloro — 3 — bromo — 5 — Fluoro hexane Owsh gyl — 5 - gegp—3— 56
d.

3 — bromo —6 — chloro — 5 — Fluoro hexane Olafa gl — 5 — )€ 6 —saen—3



Q.2: SligoVlg ShipYly O¥easl dyilidl guall Mark(s): 5/5

What are the organic compounds that contain one or ST ol saads famg s 53 s iat Al gunall Sl €l L
eanlag )l il f Zoladl (Ludle 8 Ga S @l g Alatine

more nitrogen atoms bonded to carbon atoms in

aliphatic chains or aromatic rings?

Learning Outcomes Covered

o CHM.5.6.02.003

a.
Alcohols Ygasl)
[
1
b.!
1
: Amines Ciliaay)
:
1
1
L T T T
c.
Ethers Ay
d.

Aldehydes ilasnafy)



Q.3: glirall 23led Mark(s): 5/5

el JS& giall Awaip gl _ .
$IA) ohe g 3ga
Demonstrates the geometry of the
The space-filling 1
molecule clearly
model
aly S o giall Awain Helal Lanlly 5511 3 gas
Demonstrates the geometry of the The ball-and- 2
molecule clearly stick model

Learning Outcomes Covered

o CHM.5.6.01.003

a. 1

b.E.----:---------------.T.----.T ....................................................................................
; 2

C. 3

d.



Q.4: LI yailas

explains the low boiling and melting points of methane

compared to water?

€ olall e A3ylia (el

ans pa lpaany iingpan Ly (S0, Akl Gl Gliia
Methane molecules are polar and form hydrogen bonds with each other

Cans aa Lpany g yun Loy ) JCE Y5 Badad e Gl Giliis
Methane molecules are nonpolar and do not form hydrogen bonds with

each other

G.Lnl\\lltu).)ga:l){.h )4:_1] _‘L;_.gu _gaﬂ'ﬁhm I SJJE:‘L.JE‘:"‘H QL'u_j;)g..I‘

Methane molecules have litlle intermolecular attraction compared to water

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O 0O 0O 0O O 0O O O O©o

only

Il only

Mark(s): 5/5



Q.5: Lagiy SUYI )lgbly duilanlly duilog)Vl digyySeyaell DlSyall gaiboas gu &ylaall Mark(s): 5/5

Scientists have proposed the structures below to 9% ,-__;T GeHg ponll iS5 e pnill slif sl oLalal) =
express the benzene compound C¢H,. Which of the frna A

following is true?

CH,=C=CH-CH=C=CH, 1

12

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O 0O O 0O O O ©o

The formula 1 is correct because benzene is unstable ol e b 0l 0 damia 1 izl

and extremely reactive dayn i_,..:-s‘Y

The formula 1 is incorrect because benzene is dolfiay e pd il o dama 2 1 Al

unstable and extremely reactive iayy ald

The formula 2 is correct because benzene is ol e o) N daaa 2 dal

chemically stable

The formula 2 is incorrect because benzene is Bl e pd il Y Gaaa 2 2 dial

chemically unstable



Q.6: uLulSJS”s L.JLLLst bl guall cauog Mark(s): 5/5

Which of the following is true about alkenes? SlgiL 3l Lo o Il L

Learning Outcomes Covered

o CHM.5.6.01.003

a.
Its general formula is C H,,., C Hjpup el rsa
b.
The simplest alkene has one carbon atom faals Oe€ 53 o 0 Lad (g
S
1
c.!
1
1 Its general formula is C H,, C.H,, dalall lginsia
i
1
]
e o o o R R R R R N R R RN N R N R RN RN NN N N S R R R R N R R R R N R R R R R R R R R R R R R N R R R R R R R RN R R
d.
contain one or more triple bonds between carbon Ol 3 T A0 Al e gt

atoms



Q.7: dilidl Lisws JUs g0 SUISIVI dpous Mark(s): 5/5

What is the name of the following hydrocarbon ¢(IUPAC) alail Lz ol (90 80 pasgll acd Lo
according to the (IUPAC) system?

CHs CH,CH;  CH,

CHy—CH—CH—C—CH,—C—CH,—CH,

CH, CH, CH,CH,CHs
CH,
Learning Outcomes Covered
o CHM.5.6.01.013

a.l ;
15,7 — diethyl — 3,4,7 — trimethyl — 5 — propyl Jugn—5—die -7 43— dil JB—-T¢5
i I
i decane _

b.
5 - propyl - 5, 7 - d|ethy| - 3,4,? - t"methyl ém_ 7 . 4 . 3 _ J‘-}‘-‘E! ém _ ? . 5 _LL':‘_B_H _ 5

O G

decane

c.

3,4,7 — trimethyl — 5 — ethyl — 5, 7 — dipropyl nonane Obgd Jdugype A =7 ¢ 5—di) = 5 —ddue SDE-7 4.3

5 — ethyl — 3,4,7 trimethyl — 5, 7 — dipropyl nonane Qb Jugp SE—T7 ¢ 5 —dfia -7 43 - -5



Q.8: 4 ga=l OMeladl auiai Mark(s): 0/5

Which of the following is true for the two reactions in the Jyaall A gl pala Ll 3l Lask mania b Les i:gi

sl
table below?

R—CH=CH; + H; — R—CH>—CHj3; 1

R—CH;—CH>—OH — R—CH=CH; + H;0

2

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.01.021
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.005
CHM.5.6.02.006

O O O 0O 0 0O 0 0O 0O O 0 ©o

1 is an elimination reaction and is called bl g3 Je bl el cida 1 3 Jolanll

a dehydration reaction

1 is an addition reaction, one of its common uses dhgan Bailall anlaladng) fpeg ddlia] 1 A8 (el

is to convert liquid fats into solid fats
e Osra | AL Gaadl

2 is an addition reaction, one of its common uses igad ALl atlalasid fpeq Adlial 2 G5, Uil

is to convert liquid fats into solid fats
Adea Geba AL el

2 is an elimination reaction and is called Gimgigl g3 JelB audy (B3a D B ol

a dehydrogenation reaction



Q.9: dyirall e SligsySeyiuglly dnwivall OligsySeyngll pu juedl Mark(s): 0/5

hydrocarbons, and the result of the addition was as Lslaal g S?_w ek LS ddlayl da

shown in the figure below. Which of the following Sdann a4 Culyliadl Lﬁgi

J -4

(I
Bromine

N

statements is correct?

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.013
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O O O O ©o

a.
Hydrocarbon A is saturated while hydrocarbon gia e B 0585 puell Lain aada A 05285340
B is unsaturated
b.
E Hydrocarbon A is unsaturated while hydrocarbon radia B UsSsrnell Ley rada e A 5Kl
' B is saturated
C.
Both hydrocarbons A and B are unsaturated Oemda s B 05K mells A 5185 uel) e U
d.

Both hydrocarbons A and B are saturated Olaadia B (9085 pauells A (053K jaugll (0 D >



Q.10: JuigyyS)l degaze wle Sgizi il SlSyall yailas Mark(s): 5/5

Which of the following is a property of carboxylic acids? 3Ly £I) bl ailad e JL Las .__gi

Alads jubg Anlad i GlSie

Nonpolar and nonreactive compounds

Ll b opls ol (e

Can ionize in water solution

Dot 5aaly Jus€e S dogena o 53

Have only one carboxyl group =

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.01.021
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O O o0 0O 0O O 0O 0o O o

| only Jaia |
Il only L
I, 1l Il sl

11, 1 151



Q.11: i lisg dlil guall JU5 o OligsySeyingll dreui(IUPAC) Mark(s): 5/5

What is the correct structural formula for the TSl dann all Al sl L
compound: Sl = 2 — Jiua SN -5 5 4-Ji -4

4- ethyl — 4 ,5,5 — trimethyl —2-hexyne?

Learning Outcomes Covered

o CHM.5.6.01.003
o CHM.5.6.01.013

TH:, CH,
H,C—C==C T ¢C—CH,
CH, CH,
CH,
i B B aAlManahicom/ae = = 0

CHa IHa

CH, CH,
i CH,

CH,CH =CHCCH2C|CH3

CH, CH,CH,



CH, CH,

|
CH,CH ==CHCCH,CCH,

CH, CH,



Q.12: dgwaiglly dlidl Slpegiull o Guipmasiyll Guiidl] gy sl

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O 0O O 0O O O ©o

| only

Il only

I, Il only

CHsCH,CH= CH, | 1
CH,CH= CHCH, 2
3

CH,CH = CHCH,CH,

=i |

Lall

Mark(s): 5/5



Q.13: duuuiglly &lidl Shogip¥l o gainuniyl paiid)]l u jasaill Mark(s): 5/5

Regarding the two compounds in the table below. fmaia é_,L lae sl slaal Jpaal A Sl b Led

Which of the following is true?

Lil Li] Cl \ }W

H=C=C=H C=C

| v d

H H H H

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O 0O O 0O O O ©

Rotation is possible in compound 1 and it cannot Faeria Sy il CpoS akaiog Wy 1 Sal) 3 e sl

form geometric isomers

Rotation is possible in compound 2 and it cannot Faaid ilyag (oS akaion Yy 2 Sl 3 Kaa sl

form geometric isomers

Rotation is possible in both compounds 1, 2 and they i Y LaadlSs 25 1 cpSoall (e U8 2 (8 Jal

cannot form geometric isomers Zuid Sileg il e

Rotation is impossible in both compounds 1,2 and S adiinny 25 1 el o € 8 c8an p2 el

they can form geometric isomers FIRTCH Y s Legle



Q.14: dcgiioll JaigsySIl OUSyo gu el Mark(s): 5/5

Which of the following is the formula of el e — 4 s 4 3L L

4-methylpentanal?

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.01.021
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

© 0O 0O 0O 00O 00 O 0 ©°

a.l
E CH;
; cu3~c| H—CHs;—CH,—C"
b.
CH,4 (I‘i)
|
CH,—CH— CH;—C—CH,
C.
CH,
| 0
CH;—CH—CH5—CH,—C,
3 z 2
d.

i m
CH3_CH2_CH _CHZ == CHZ_C_H



Q.15: ol lisg dlil guall JUs o OligsySeyingll dreui(IUPAC) Mark(s): 5/5

What is the name of the following hydrocarbon S(IUPAC) alasl L Tl (59080 jaugll ad Le
according to the (IUPAC) system?

CH, — CHz
CHy—CH—CH, CH—CH,
C—
CHy  /
‘e H
Learning Outcomes Covered
o CHM.5.6.01.003
o CHM.5.6.01.013
a.l
E 3, 7 — dimethyl — 4 — octene ST — 4= Qe 5703
; C
:
A .
b.
3, ? — dlmethyl e 4 — Dctyne [_Ft's.}t 44— J.I“_I.a éu —7:3
c.
6— methyl - 2 — ethyl -3 — heptyne s = 3 - JA - 2 — b 6
d.

2 — ethyl — 6 — methyl -3 - heptene oo = 3 - e — 6 - J— 2



Q.16: degiiall JyignySIl OUSye o el Mark(s): 5/5

Which of the following structural formulas Sl il Al Aol aeall (e
represents the compound: ¢ el il gilia

hexyl methanoate?

Learning Outcomes Covered

o CHM.5.6.01.003
o CHM.5.6.01.009
o CHM.5.6.01.013
o CHM.5.6.01.020

0
[
CH,CH, CH,CH,CH,C—OCH,CH,

0
I
CH,C—OCH,CH,CH,CH CH, CH,

0
]
CH,CH,CH,CH,CH,C—OCH,



Q17: ghos &asSg OligsySeyiugll wle sl j3kae

fractions through fractional distillation as shown in the

figure below. Which of the following is true?

Furnace

Crude oil
L]

Learning Outcomes Covered

o CHM.5.6.01.005

a.
Fractions with higher boiling points
are drawn closer to the top of the tower
b.!
i Fractions with higher boiling points
E are drawn closer to the bottom of the tower
C.
Hydrocarbons with shorter chains are drawn
near the bottom of the tower
d.

Hydrocarbons with larger chains are drawn

near the top of the tower

Mark(s): 5/5

ol JA 3 mige 8 LS Auadll oLl

u.‘.f.i” ul;ll.:ﬂ Gilayd cala c.b‘.}%” EENTEPAT
ol el e il

o Jid e ol

eaBY ) JSld) el g Koyl Con S
o) diad e il

SSY) el ld g S paell e
ol el e il



Q.18: @ gzl Sladlgll b ollall dzyd b 4355 il Jolgsll

Which of the following factors causes an increase in

the boiling point of alkyl halide as the halogen

changes from fluorine to chlorine, bromine, and

iodine?

Learning Outcomes Covered

O O O 0 O 0O O 0 O O °o

Mark(s): 0/5

SV sl GLle Zay 50l o 20 Jalgal) (g

Casally agylly HslSll A yelall e JUESY) e

Increasing the number of electrons that lie farther from the

IhalamAam mialaos

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.01.021
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

| only

Il only

I, 1l only

Siagllgl 3lsd e Basmdll cilig ST 2oe B0L)

Loz |

Lall



Q.19: duuiglly &lidl Shogip¥l o gainuniyl paiid)]l u jasaill

Which of the following formulas does hot represent

a structural isomer of the compound:

3- Ethyl-2—-methyl hexane?

Learning Outcomes Covered

O O 0O 0O 0O O 0O O 0 o

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

CH, CH,CH,

3

CH,CHCH,CHCH CH

cH CH

e
CH, CH, CHCH,CCH,

CH,

3

CH,

CH,

CH, CH, C CH, CH,

CH,

CH,

3

Mark(s): 5/5

Sl Gl Byl Jhad Y A Gl a6

folla disa =2 - sl - 3



CH, CH,
CH, CH, c| CH,CHCH,

CH,

Q.20: L) dlidl guall puwyg dilogyVl OligyySeyanedl drouws Mark(s): 5/5

What is the name of the following hydrocarbon according S(IUPAC) aladl las 5 (590 89 jaugll ad e
to the (IUPAC) system?

CH,CH,CHs

CH,CH;

Learning Outcomes Covered

o CHM.5.6.01.009

a.
1 — methyl — 2 — ethyl — 4 — propyl benzene Co dugp— 4 — dfl - 2 - die -]
b.
1 — ethyl — 3 — propyl — 6 — methyl benzene O dise — 6 —dgp— 3 - di -1
!
' 2 — ethyl — 1 — methyl — 4 — propyl benzene Gt duew— 4 - dise—1-dil - 2
1
-
e e
d.

1 — ethyl — 6 — methyl — 3 — propyl benzene O daep— 3 e — 6 - Ji -1



Q.21: Jlaiwll OMelay Mark(s): 5/5

What results from the reaction of an alkyl halide with fsall Jolas ae AR sl Jels o = Bl

a basic solution?

Learning Outcomes Covered

o CHM.5.6.02.002
o CHM.5.6.02.006

a.
Alkyl amine a.'):wiij:ﬁﬁ
b.
Carboxylic acid S5 S (e
S | N S Y R TSy e A= 1 R
1
c.i
Alcohol Jsas
./
d.

Ester A



Q.22: Sligollg SlyigVlg O¥g=SUl yailos yasy

From the figure below, the covalent bonds from the
oxygen in ethanol are at roughly the same angle as
the bonds around the oxygen in the water molecule,

which of the following is_not a property of alcohols?

Jely!

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O 0O O 0O O O ©o

The hydroxyl groups of alcohol molecules

are moderately polar

Hydrogen bonds are formed between alcohol

molecules

Alcohols have much higher boiling points

than hydrocarbons of similar shape and size

o) 3 ek e Frad Lol Al Ay ol8 colaal JCAN
Lo gl slall 8 Cpmas) e alell Al gl Uit sl

Sl jailiad e Gl oL

Water «ks

sl cliha A Jas jgll Gopane (5

Adadll Al gia

Jasll eulioia o At g paud Jaolg ) (S

oble e e ol Vel e cla o5
aaally (Al Lo Ailaall culige S5 angll

Mark(s): 5/5

The hydroxyl groups of alcohol molecules

are nonpolar



Q.23: &Li,pi]ls Slilg OVe=SU dilil guall Mark(s): 5/5

Which of the following formulas represents the ) i A amall ‘:.;i
compound butyl propyl ether?

e A . g

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O 0O 0 0 0O 0O 0 0o 0O o

a.
CH,CH, — 0— CH,CH,CH,
5%
§ CH,CH,CH,— O — CH,CH,CH, CH,
C. ! 7
d.

CHaCHzCHz === CHzCHzCHzC}iz CH3



Q.24: Lagiy SUYI )lgbly duilaylly diilog)Vl digyySeyaell DUSyall paibos gu &)lall

Which of the following is not true regarding aromatic

compounds?

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.011
CHM.5.6.01.013
CHM.5.6.01.016
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O O 0O 0 0O 0O O °o

Were found in pleasant-smelling oils that

came from spices, fruits

fasleg ¥ Ll 3l Lad i gad oL Lea

Al dadhll cld gl B lgte adell o ydiall

Sl W5 o Lguadldnad 5 2

Mark(s): 5/5

It may contain one or more benzene ring

Benzene is the simplest aromatic hydrocarbon

ST 5l saaly o ila e 05 o (K

el GeSerm bl o) e



Q.25: dulidl lgigwo JA5 o dadlxll LIV s Mark(s): 5/5

What is the correct structural formula for the TSl daon all A0l dapall L
compound:
1,6 — diethyl — 2 ,3 — dimethyl cyclooctane? ¢ A LSyl Jaiea %,jL‘Ei— 324 951.‘6 -6:1

Learning Outcomes Covered

CHM.5.6.01.003
CHM.5.6.01.005
CHM.5.6.01.009
CHM.5.6.01.013
CHM.5.6.01.020
CHM.5.6.02.002
CHM.5.6.02.003
CHM.5.6.02.006

O O 0O 0O 0O O O O

a.
CH;
b.
CH;
CH; CH,CH;
S
: CH;
d.
CH;

CH3CH2CH2 CH;CHzCHg



oo alall 130 Jaasi i
4hle)ll Zoliall 2950

alManahj.com/ae



